
R
YO

B
I 4

-1
/2

 in
. (

11
5 

m
m

)

A
N

G
L

E
 G

R
IN

D
E

R

M
O

D
E

L
 N

O
. A

G
45

1

R
E

PA
IR

 S
H

E
E

T



K
E

Y
 N

O
.

PA
R

T
 N

O
.

D
E

S
C

R
IP

T
IO

N
Q

T
Y.

1
A

G
45

0-
66

W
R

E
N

C
H

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

..
1

2
A

G
45

1-
02

C
LA

M
P

 N
U

T
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

1
3

A
G

45
1-

64
G

R
IN

D
IN

G
 W

H
E

E
L

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
.1

4
A

G
45

1-
01

D
IS

C
 F

LA
N

G
E

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

1
5

A
G

45
0-

01
G

U
A

R
D

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
..

1
6

A
G

45
0-

02
C

LA
M

P
 S

C
R

E
W

 (
M

6 
X

 1
5 

m
m

)
...

...
...

...
...

...
...

...
...

...
...

...
...

1
7

A
G

45
0-

26
LO

G
O

 P
LA

T
E

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

.1
8

A
G

45
0-

65
S

ID
E

 H
A

N
D

LE
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
1

9
A

G
45

1-
04

D
AT

A
 P

LA
T

E
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

...
...

1
1

0
A

G
45

0-
60

W
IR

E
 B

R
U

S
H

 (
N

O
T

 S
H

O
W

N
).

...
...

...
...

...
...

...
...

...
...

...
...

...
..

1
1

1
A

G
45

1-
62

A
B

R
A

S
IV

E
 M

O
P

 D
IS

C
 (

N
O

T
 S

H
O

W
N

)
...

...
...

...
...

...
...

...
...

1���������������������� � � � � � �

�

	

2

R
Y

O
B

I 4
-1

/2
 in

. (
11

5 
m

m
)  

A
N

G
L

E
 G

R
IN

D
E

R
 –

 M
O

D
E

L
 N

U
M

B
E

R
 A

G
45

1

SE
E 

NO
TE

N
O

T
E

: 
T

h
e 

as
se

m
b

ly
 s

h
o

w
n

 r
ep

re
se

n
ts

 a
n

 i
m

p
o

rt
an

t 
p

ar
t 

o
f 

th
e 

d
o

u
b

le
 i

n
su

la
te

d
 s

ys
te

m
. 

T
o

 a
vo

id
 t

h
e

p
o

ss
ib

ili
ty

 o
f 

al
te

ra
ti

o
n

 o
r 

d
am

ag
e 

to
 t

h
e 

sy
st

em
, 

se
rv

ic
e 

sh
o

u
ld

 b
e 

p
er

fo
rm

ed
 b

y 
yo

u
r 

n
ea

re
st

 R
yo

b
i

A
u

th
o

ri
ze

d
 S

er
vi

ce
 C

en
te

r.
 F

o
r 

th
e 

se
rv

ic
e 

ce
n

te
r 

n
ea

re
st

 y
o

u
 c

al
l 

1-
80

0-
52

5-
25

79
.



3

RYOBI 4-1/2 in. (115 mm)  ANGLE GRINDER – MODEL NUMBER AG451

� �

�

�

	

��

��

��

��

���	

���


��

��

��

��
��

��

��
��

��

��

��

��

�


��

�

�	

��

��
��

�
�

�

�

�




4

RYOBI 4-1/2 in. (115 mm)  ANGLE GRINDER – MODEL NUMBER AG451

The model number will be found on a plate attached to the motor housing. Always mention the model number in all correspondence regarding your
ANGLE GRINDER or when ordering repair parts.

PARTS LIST

Key Part
No. Number Description Qty.

Key Part
No. Number Description Qty.

1 AG450-19 * SCREW (M5 X 25 mm) ...................................... 4
2 AG450-15 GEAR CASE ASSEMBLY ................................. 1
3 AG450-21 BEVEL PINION ................................................. 1
4 AG450-12 KEY ................................................................... 2
5 AG450-40 ARMATURE ASSEMBLY ................................... 1
6 AG450-41 BEARING CAP .................................................. 1
7 AG450-39 FAN BAFFLE..................................................... 1
8 AG450-42 SCREW ............................................................. 2
9 AG450-43 FIELD ASSEMBLY ............................................ 1

10 AG450-36 CORD TAG......................................................... 1
11 AG450-35 POWER CORD .................................................. 1
12 AG450-34 BEND RELIEF ................................................... 1
13 AG450-28 HANDLE (RIGHT) .............................................. 1
14 AG450-30 * SCREW (M4.2 X 16 mm) ................................... 8
15 AG450-47 BRUSH HOLDER ............................................... 2
16 AG450-48 BRUSH SPRING ................................................ 2
17 AG450-45 BRUSH ASSEMBLY .......................................... 2

WARNING: Improper repair of a double insulated tool can result in damage to the double insulation system possibly causing electrical shock
or electrocution. Any repairs requiring disassembly of your tool requires safety testing and should only be performed by a Ryobi Authorized
Service Center. For the service center nearest you call 1-800-525-2579.

 * Standard Hardware Item – May Be Purchased Locally

18 AG450-38 SWITCH ASSEMBLY ........................................ 1
19 AG450-32 CORD CLAMP ................................................... 1
20 AG450-50 * SCREW (M4 X 10 mm) ...................................... 2
21 AG450-51 * WASHER (M4) ................................................... 2
22 AG450-49 CLIP .................................................................. 2
23 AG450-29 HANDLE (LEFT) ................................................ 1
24 AG450-25 MOTOR HOUSING ............................................ 1
25 AG450-05 * SCREW (M4 X 12 mm) ...................................... 4
26 AG450-06 * WASHER (M4) ................................................... 4
27 AG450-07 * LOCK WASHER (M4) ........................................ 4
28 AG451-03 GEAR CASE COVER ASSEMBLY .................... 1
29 AG450-10 BEVEL GEAR ................................................... 1
30 AG450-09 WAVY WASHER ................................................ 1
31 AG450-08 RETAINING RING .............................................. 1
32 AG450-67 CARRYING CASE (NOT SHOWN) ..................... 1

983000-030 OPERATOR'S MANUAL
983000-030R REPAIR SHEET
  3-10-04



5

RYOBI 4-1/2 in. (115 mm)  ANGLE GRINDER – MODEL NUMBER AG451

WIRING DIAGRAM

��
��
��������

�����

������

����������

�����

����������

�����

��
��
��������


